LY R LR ()

2—2Yy ROT7NLTY XL

21—2Yy RO7ILTY XL

AA: Boa, b

H 0 ged(a, b)

Step 1: #J {r,} ZEZ.

Step 2: rg<a, 11 < b, n+ 0.

Step 3: 7,1 =0 725X abs(r,) &)1,

Step 4: 7,00 (ry hTpy1), n<n+1 & LT Step 3

R —2 Yy R7)ILTJY) X A

AA: Bioa, b

7 : ged(a, b) & ged(a, b) = ax + by %79 =, y

Step 1: #31 {r.}, {z.}, {y.} ZEHS

Step 2: (rg, xo, yo) < (a, 1, 0), (r1, z1, 11) < (b, 0, 1), n <« 0.
Step 3: 7,41 =0 72 51X Step 5

Step 4: ¢ ¢ [rn/rni1],
Tnt2 € Tn — ¢ X Tpyd,
$n+2 $— ITpn —( X .Tn+17

Yn+2 <_yn_qun—i-la
n<n+1&UT Step 3 ™,

Step 5: 7, <0 2SI (1h, Tn, Yn) < (=70 — Ty —Yn).
Step 6: (1, Tn, yn) & ),

7LD X LDER



L1764

a = 1234567890
b = 135792468

r[ 0] = 1234567890, x[ 0] =1, y[ 0]
r[ 1] = 135792468, x[ 1] = 0, y[ 1]
r[ 2] = 12435678, x[ 2] =1, y[ 2]
r[ 3] = 11435688, x[ 3] = -10, y[ 3]
r[ 4] = 999990, x[ 4] = 11, y[ 4]
r[ 5] = 435798, x[ 5] = -131, y[ 5]
r[ 6] = 128394, x[ 6] = 273, y[ €]
r[ 7] = 50616, x[ 7] = -950, y[ 7]
r[ 8] = 27162, x[ 8] = 2173, y[ 8]
r[ 9] = 23454, x[ 9] = -3123, y[ 9]
r[10] = 3708, x[10] = 5296, y[10]
r[11] = 1206, x[11] = -34899, y[11]
r[12] = 90, x[12] = 109993, y[12]
r[13] = 36, x[13] = -1464808, y[13]
r[14] = 18, x[14] = 3039609, y[14]
o

gcd (1234567890, 135792468) = 18, x = 3039609,

21—V vy ROT7ILTY XL ( AEYEH version )

AA: BHa, b

I ged(a, b)

Step 1: 2 rg, m, 1m0 ZEHE,

Step 2: 1o« a, r < b.

Step 3: r; =0 72 51X abs(rg) & Hi,

0,
1,
-9
91

3

3

-100,
1191,
-2482,
8637,
-19756,
28393,
-48149,
317287,
-1000010,
13317417,
-27634844,

y

Step 4: 1o« (ro % 1), ro <11, T 19 & LT Step 3

BRI —2 ) v R7INTY XL (A EYEIHK version )
AF B a, b

7 0 ged(a, b) & ged(a, b) = ax + by %79 «, y

% =
Step 1: Eéﬁ To, T1, T2, To, T1, T2, Yo, Y1, Y2 ;EEAEIO

Step 2: (7”0, Lo, 3/0) < <a7 17 0)7 (Th I, 1/1) — (b> 07 1)

Step 3: 71 =0 72 51F Step 5

-27634844



Step 4: ¢« [ro/r1],
(7’27 Ta, Y2) (To—qxﬁy To —q X 21, yo—qu1)>

(0, To, Yo) < (r1, 1, 1), (11, @1, Y1) < (12, T2, Y2)
& LT Step 3 N\,

Step 5: 19 <0 725X (ro, 2o, Yo) + (=70, —Z0, —Yo)-
Step 6: (ro, 7o, yo) & )1,

a—27Y)y RO7)L3") XL ( IR version )
AB B a, b
7 : ged(a, b)
Step 1: b=0 725X abs(a) & Hi 1,
Step 2: 51 (b, a % b) 1T U THBITFOH L 217\, DR fEZ T,

R —2 )y K73 XL ( B version )
AN B a b
7 ged(a, b) & ged(a, b) = ax +by Zhi7= 3B z, y
Step 1: b=0 751X
eaz 0 DL ZE (a,1,0) ZHJ,
e a<0D&ZE (—a, —1,0) I,
Step 2: ¢« |a/b], r=a—-bxq &EL,

Step 3: HIE (b, r) (T U THRIFEOH L ZTWV, ZORDEE (e, u, v)
tj—éo

Step4: d=e¢, x=v, y=u—qxv &UT (d, z,y) 2T,



